634.00
634.00

= 210,00

R

= 500.00

R

OSTATNI PLOCHA
VYSEHNEVICE

/

/

PODELNY PROFIL CESTA C10

POVRCH
KATASTR

(00
™~ AN
o
N [e@]
O ' R
N T BL°292 8£°292 817292 T J0OKE9 00°r¢
\
/ //
/ /
// //
/ /
/ /
/ /
/ /
// //
/ /
<\ /
AUD M/ /
O \ \
zu4mw ST\ / v6°092 757092 58°09Z \ | /OZ'B6S =
TN e TTIVIRET  F AN v6°092 ¥5°092 S8°092 ~ | 0Z°66S -]
oo o WOZBESTO W R\ ~| g
Nooses0 wy © \/ \ G/°092 6£°092 29°092 ~ [ D0°S6S 00°G6
o\ 080650 w> W 297092 227092 15°092 [ 08°065

S g o 7

26 A\ .

RERTY W /91092 91652 70092 \ | /OF"ZLS = — <

TR : AT 807092 89652 £6°6G¢2 0°895 g ° 9
=M 0rZIG0 Wy @ \\ o ©|

o+ ymwy S \\Mhaccwkhwmmwm%nmmw \&wuv@m 0089 I m 2
cYoososo wig| L /107092 19652 $6'652 \/96°€ 95 < a -

. mw 0909070 W] ] /07092 L9°6G2Z SA°ASZ T | 09°29G 0 96°¢9

S oS A= | ,,, -

o iy - o ©

memm N gl | | \\‘miogmmugmmwmouo@m L 2°0GS - <

TR - \\ v°092 ¥.°652£0°092 0L°8¥S Q -

o Lo 120550 uE Q\ 77 €17092 £1°6S2 707092 19°9¥ S CEARN o _ n
< Wy © AT T 17092 €L°652 107092 T [ 009K S 00°9% L1979
=N 009r5°0 W |
" U 5lpo 0 W Im 0L°092 0L°652 66°652 6L7LYS

=
&
0
o]
=
o
<
™
Q]
e @)
SO &
S o X o
NI %ﬁ | mmwwmmmw £1°65Z BE'65Z \|/LL 56y o
S wxmm@qgv T 8,/, CG°6G2 €L°BGZ 8E°6SZ T | LZ°ShY B °
xr + VJ o ﬂUu// ,,,/,, \.A)\urn;ﬂ ° o ] o uﬂ el %
0680 WH S\ \ 3652 867862 0£°652 [ D0O'68Y 00°68 g
o \ - o O
SEEEGET A 7 80°6G2 89°852 £6°85Z T EL°Z8Y A
< AN\ T 267862 2597852 LL°8S2 T [ 5008y M 50708
@) AR -
— W\ \ o
Ow // // O
o \ \
@i / / B
o, Q/ / <
o3 ES MR i
S O = AR -
o o %, MBS / 61'152 607052 Z€71GZ \ | /69" GSP o =
e - CN59cCE 0 W 67,5 60°L5C 2716 5 69°55¥ O N
% — < M Mw N
G x%w — 207,52 297952 267952 T 006h Y 00°6l &
CMW, 0 /W T 6.°952 687952 997952 T [ 0K by Oy 9p
N1 20p0 W o T /$79G2 16°GG2 G2T9SZ T [ LET kY =
RS W LO e o - a O 2
ZO\=! & /197652 127552 09°55¢ 8°S¢y S ™
0 NG : /9652 L2752 09°GG2 ~ | ¢8°GCh < 4
S T 9£°G52 96°K G2 627652 T | L8T2EY = m —gTee
aJ < o
SR : e oo |2 o
00S25°0 WY o 2.°%S2 28952 1S°ySZ T [ 00°G2Y 00°G2 <
< / Avu
4/ / <%
LO \ I
o \ —_— ~ o —~ o o —_— o -~
SRy Y 61752 617652 LL°YSZ 8Lyl b S
| S
M
[
T G8°CGZ SpEGZ 8L°ESZ T L8Oy AN
=
=
%ﬂ
% S
S Sk
o T 627652 68°25Z 91°E6Z2 T [ D028t 00°28
©
PN
%ﬁ
o~
- SN
0 O SIS /27’252 207252 627252 GETL6E =
%ﬁ W Vm@mmno o 0P 2252 20°252 62°25Z ~ | Gg°LS¢ ol
Ioo?muo D W \ T 82°252 88°1GZ L1252 T 00T LyE 00" LY
\WY T 017252 0L°1G2 BB°LSZ T 59 2ke
/// // m
// // FhUD
LO / o _ﬂ
<o, AR . o -
S & 0 T 267162 26°0G2 L2762 T 09°62¢e ” 09°G2
> = _ o~ o o _ - I
mhaﬂw aze0 o o 517162 GL°0S2 LLULSe 18°12¢ g .
TERTEYSA % / = o
ol Y - ) N o ™M m
00S/6°0 Who | 887052 87052 . 0S¢ 007ELE 00°¢l >
O , W
£ Lo % T P8'0S2 Pb0SZ 087052 T LLTLOS Il
S ahoc0 o T T 187052 Lp°0SZ b8°0SZ T | 6Lr0¢ Mw
FOU | | ]
& 5
S i
< T C0°L52€9°052 67052 T | 887162 — 8816
(@] CO
(@) D]
SV o N N
P e S o < o
Do & 127152 18°0S2 LTS 2 N\ /r28le =
v > A v28lz0 Wi / €27152 £8°052 517152 \[00°5L2 uguwm
005/2°0 WY & - mwwmwmaﬁomw bl'lSC TITSEpLL 00°G.L
9/1,2°0 W 227152 287052 2717152 9.71L2
£
o
Iy
N
©
o
<
[N}
~
L0
@
O
O co
O €6
o~ )
=S mm I / 89'052 82'052 55°052 \ /41802 o
T Wﬂz@owo cvém@_%/ 89°0G2 827052 657052 — | LI1"802 |
o+ > SN . : : B n -
m‘momowxu my m >/ \ 09°052 02°052 05°05Z ~ [ 00°¢0Z 00°¢ "
R . I
€\ £8L61°0 W \ 21052 20°062 827057 CR°L6) -
QO \ RO
0, \ m
(MJL P~
>\ \ o
M~ < Q // ~ o~ o o o Avn to
55 O, 2\ 95°672 9L°BKZ SPU6he 18°LLL - 2
oRs - |\ CC'Bh2 $6°8KZ 22°6rZ\\//Lr 2Ll 5 n| 9
T © i SARERN . CCBYZ €6°8K2 227612 Lv°2l) oo - S 18711
+ > M% owf NN S \ 6L°6V2 6.°8rZ OL°6YZ 869l < AR
g SN )p2/1°0 WH \ . L7 LLBr2 L1T8K2 807612 IQY/00°69) ©|m|R A= d
Q00690 U N W N \ J T €l'BbZ €L°8pZp0'6bZ [ Ge'89L 00769 | o7 8£88
SN\ £550L°0 W BN ol T 8682 85°872 88°8FZ T | £G°59 = M
2 , o855 771082 LE'8KZ 1978y T 01709} = 0,709
2 =
O, NN O |
ﬂ \\/\Uu, // mun [
% /o NI
ey / ‘ . L O] AN
50 — e . . . .
& T
e
=
D]
=
O
A
b
<t
_
o) o
Lo <t
5 N mmu@m_mqw 9p'ShZ bLISPE N/ V8ISl z
DXWPBICLL0 W N 98°Sr2Z 9°She LSk e F8°GLL =
&S \ ol
SN Q=
I \ \
M / // < M m;
or W\ — onc . . — 00" - =
7 O
< [\ O\ 0
< | \\ \
2\ 906070 W W\ T vrr2 LOkr2 9S°rZ T 9706 =
o / \ —
Q / /, %2
Oo \ / o
< / / -
= \ O\ = w0
% // / o m
Qo // // % ﬂ
ay \ / o _
S| = -
\ / L M| w Mm m
/ T 02°¢r2 08°2r2 OL°Ere 00°65 0065 1< o
5 TS
L } . B — ol S i
06°2v2 05°202 08°2rZ 22725 ) 5 22725
= S
s Q
\ o 2
g\ \\.Nw&qw 28°b2 21°2re 98°9¢ ole I
g S\ /) €172he €12 £072re L0°GE SlL 98°9¢
v SW05C00 Wy [\ CL°ZbZ €LrZ €022 | L0°SE NN
“X002c0°0 Wy N ALY T 20°2k2 29°rZ 06°LrZ T 00°Z¢ 00°2¢
\ X — . . R T . =
€| 668200 W> T C6°Lr2 €S°LbZ r8TIKE 66°82 =
e8] <
o =
. =
) =
o [as e}
bl — o
B AN Ol S
e O Ol=
< — 15 D)
= / o |l A
o~ , — . . . . o . L — .
00000°0 W 22°1b2 28°0r2 22°r2 T 00°0 00°0 00°0
(]
(@]
Z
O =
O =
/ ] | VTLHL (]
O =
= > S ) - =
= = < B =
O W VMW 5 ﬁ W M vm W .
oo W UWTMW WL H - % N v =
— - S R =
1 O L = or < = O
> < o = _ Ll > = - D 11
_ © o = o — << IS L o >
= = N > > > W = M W m
C B oLu] — — — O < o =z L
~ L => O -O O — NSO =
M (V8] _ ™~ N N ) W > (V2]




